Light Pole Spec Sheet

Round Straight Steel 3"

RSS-3

Pole Size (Inches) Pole Wall Thickness
3 Inch Round Steel  11= 11 Gauge (.120" Thick)

Fixture Mounting
3= 3" OD Slip Fitter

Powdercoat Color: Base Plate
DB=Dark Bronze N
WH=White \
BK=Black ,/ R

[ & )

\ J/ /'
Hand Hole: \/ ’
2.5X4" reinforced \___,/
hand hole

Bolt Circle: 6.5-9.5"

Center of hole 12 Base Plate: 9" x 3/4"

from base plate
3/8" Grounding Stud

Light Pole Systems, Inc.
LightPoleSystems.com
(714) 786-8983

Pole Height (Feet)
8,10,12,14,16

Anchor Bolt:

(Blank) no anchor bolts
AB= Ship with pole +$48
Size: 3/4"-10 X 24"
Projection: 3.25-3.75"

POLE SIZE\
N

/

POLE
HEIGHT

Base Cover:
2 piece aluminum square cover.
Powder coated to match.

1057 E. Imperial Hwy #155
Placentia Ca. 92870
6/18/19 1.1


kurtismagargee
Line

kurtismagargee
Typewritten Text
8"


(*sai)
Ysem
94Nn)XI4 Xe\l

auoz pulm HdIN 00T

(14 "OS)
vda xe

(*sai)
ysem
94Nn)XI4 Xe\l

auoz puim HdINI 06
saiydede) peoq xe\

$3]0d €-|931S 1ySles1s punoy

(14 "OS)
VEERG

(*sai)
ITEIET Y
a4nixi4

Xel
auoZz putM HdINI 08

(14 "OS)
vda xe

Y319H
3jod

?8nep

ssauydIy L

lem

azis

}Jey) peo 910d Y317 U] ‘swalsAs 9]0d 1y3i

09 €¢ 00T € 4 9y 91 (L,ozT)TT € punoy 9T-TT-€- SSY
06 €€ 0€T vy GLT 9 14! (,0ZT) 1T € punoy ¥T-TT-€- SSY
0fT vy SHT 8'S S6T L'L 4 (,O0ZT) 1T € punoy TT-TT-€- SSY
GLT 9 06T L'L 0S¢ 0T 01 (,0ZT) 11 € punoy OT-TT-€- SSY
00T (47 0€C S'6 S6C 4 8 (,0ZT) TT € punoy 8-TT-€- SSY

JaquinN Med




Light Pole Spec Sheet
Round Straight Steel 4"

RSS-4
POLE SIZE\
Pole Size (Inches) Pole Wall Thickness Pole Height (Feet) TN
4 Inch Round Steel  11= 11 Gauge (.120" Thick) 10,12,15,18,20,22,24
7= 7 Gauge (.188" Thick)

Fixture Mounting Fixture Locations

2= 2-3/8" OD slip fitter If Drilled for Arm Mount

3= 3" OD Slip Fitter (View from top)

D=Drilled for 6" extended arm
pole mount. With pole cap

POLE
HEIGHT

Powdercoat Color: Base Plate Anchor Bolt:
DB=Dark Bronze — (Blank) no anchor bolts
WH=White ’ AB= Ship with pole +$48
BK=Black ,/ /\\ Size: 3/4"-10 X 24"
( 9/ \ Projection: 3.25-3.75"
\ /, /'
Hand Hole: \/ ;
3X5" reinforced \__,,/
hand hole

Base Cover:
2 piece aluminum square cover.
Powder coated to match.

Bolt Circle: 8-10"

Center of hole 18 Base Plate: 9.5" x 3/4"

from base plate
3/8" Grounding Stud

Light Pole Systems, Inc. 1057 E. Imperial Hwy #155
LightPoleSystems.com Placentia Ca. 92870
(714) 786-8983 6/18/19 1.1


kurtismagargee
Line

kurtismagargee
Typewritten Text
9"


(*sai)
Ysem
94Nn)XI4 Xe\l

auoz pulm HdIN 00T

(14 "OS)
vda xe

(*sai)
ysem
94Nn)XI4 Xe\l

(14 "OS)
VEERG

auoz puim HdINI 06
saiydede) peoq xe\

(*sai)
ITEIET Y
a4nixi4

Xel

(14 "OS)
vda xe

U0z pulm HdINI 08

SL v'E S6 9 0TT 16 Z4 (,88T°) £ 7 punoy v¢-L-7- SSY
00T L 0zt 70T GET GT (014 (,88T°) L 14 punoy 0¢-L-¥- SSY
SL 1 L 8T 00T 9T Z4 (L,ozT) TT v punoy vT-TT-v- SSY
00T 4 0zt 1€ 0€T A% [44 (,0ZT) TT 14 punoy TC-TT-v- SSY
74 T°€ 0ST v 0ST 9'g (014 (,0ZT) 11 v punoy 0Z-TT-v- SSY
0€T 47 08T €g 06T L 8T (,0ZT) 1T 14 punoy 8T-TT-t- SSY
0ST 6°S G8T v'L 0S¢ 9'6 ST (,O0ZT) 1T 14 punoy ST-TT-¥- SSY
ove S'6 00§ 8'TT 06€ ST 4’ (,0ZT) 11 v punoy TT-TT-b- SSY
S0€ €TT SLE 6°€T 08Y LLT 0T (,0ZT) TT 1% punoy OT-TT-#- SSY

Y319H
3jod

?8nep
ssauydIyl azs Jquinp jed
lem

$3]0d t7-|991S 1ySies1s punoy
}Jey) peo 910d Y317 U] ‘swalsAs 9]0d 1y3i



Light Pole Spec Sheet
Round Straight Steel 5"

RSS-5
POLE SIZE\
Pole Size (Inches) Pole Wall Thickness Pole Height (Feet) TN
5 Inch Round Steel  11= 11 Gauge (.120" Thick) 25,30
7= 7 Gauge (.188" Thick)

Fixture Mounting Fixture Locations

2= 2-3/8" OD slip fitter If Drilled for Arm Mount

3= 3" OD Slip Fitter (View from top)

D=Drilled for 6" extended arm
pole mount. With pole cap

POLE
HEIGHT

Powdercoat Color: Base Plate Anchor Bolt:

DB=Dark Bronze — (Blank) no anchor bolts
WH=White ’ AB= Ship with pole +$78
BK=Black ,/ / \\ Size: 1"-8 X 36"

/’ =
[ 1128 \ Projection: 4-4.5

\\ // /
Hand Hole: / ’
3X5" reinforced \__,,/
hand hole

Base Cover:
2 piece aluminum square cover.
Powder coated to match.

Bolt Circle: 10-12.5"

Center of hole 18 Base Plate: 11.75" x 1"

from base plate
3/8" Grounding Stud

Light Pole Systems, Inc. 1057 E. Imperial Hwy #155
LightPoleSystems.com Placentia Ca. 92870
(714) 786-8983 6/18/19 1.1


kurtismagargee
Line

kurtismagargee
Text Box
11.25"


145 LY 09T G'9 00¢ 8 0€ (,88T°) L S punoy 0€-£-S -SSY
00¢ €/ 0S¢ €6 00€ 4 14 (,881°) £ S punoy GT-L-S -SSY
00T 4 4 € 0ST €y o€ (LoTT) 1T S punoy 0€-TT-G -SSY
0ST v'E LST 8'G ST 16 14 (,0ZT) TT S punoy SZ-TT-S -SSY

(*sql) (*san)
(14 "OS) (14'DS)  wysdem  (14°09)
ysem
vda xen VdixeN  a4nxid  vdaxew  ySisH

(*sar)

TETETN asneo

24Nn1X14 Xe\l 24N31X14 XeAl ssauwydIYyL ?zs JaquinN Med

XeNl 9jod

2uoz pUuim HdIA 00T 2uoz puim HdIN 06 2uoz puim HdIN 08
saiydede) peoq xe\

$3]0d G-|931S 1ySies1s punoy
}Jey) peo 910d Y317 U] ‘swalsAs 9]0d 1y3i

lem




Light Pole Spec Sheet
Square Straight Steel 4"
SSS-4

SZE e
Pole Size (Inches) Pole Wall Thickness Pole Height (Feet)

/\
4 Inch Square Steel  11= 11 Gauge (.120" Thick)  10,12,15,18,20,22,24 /
7= 7 Gauge (.188" Thick)

Fixture Mounting Fixture Locations

2= 2-3/8" OD slip fitter If Drilled for Arm Mount

3= 3" OD Slip Fitter (View from top)

D=Drilled for 6" extended arm

pole mount. With pole cap %v

< |

/B\’ ¥ POLE
HEIGHT

(o] 0

N

Base Plate Anchor Bolt:

Powdercoat Color: o (Blank) no anchor bolts
DB=Dark Bronze s° - ) s AB= Ship with pole +$48
WH=White / N\, Size: 3/4"-10 X 24"
BK=Black l, 9V, \I Projection: 3.25-3.75"

v/ ’ ! Base Cover:

\\<’ / 2 piece aluminum square cover.
Hand Hole: o7 ’ Powder coated to match.
2;(: q Lecl)?;orced Bolt Circle: 8-10"

Center Of hole 18" Base Plate: 9.5" x 3/4

from base plate
3/8" Grounding Stud

Light Pole Systems, Inc. 1057 E. Imperial Hwy #155
LightPoleSystems.com (714) Placentia Ca. 92870
786-8983 6/18/19 1.1


kurtismagargee
Oval

kurtismagargee
Line

kurtismagargee
Typewritten Text
9"


(*sai)
Ysem
94Nn)XI4 Xe\l

auoz pulm HdIN 00T

(14 "OS)
vda xe

(*sai)
ysem
94Nn)XI4 Xe\l

(14 "OS)
VEERG

auoz puim HdINI 06
saiydede) peoq xe\

$9|0d t7-]291S 1ysieJ1s asenbg

(*sai)
ITEIET Y
a4nixi4

Xel

(14 "OS)
vda xe

U0z pulm HdINI 08

Y319H
3jod

?8nep

ssauydIy L

lem

azis

}Jey) peo 910d Y317 U] ‘swalsAs 9]0d 1y3i

GET S 88T 1L 0.2 0T 144 (,881°) £ v aJenbg v2-L-v- SSS
00¢ 8 GLT 11 0S¢ 14! (014 (,881°) £ 14 alenbs 0¢-L-t- SSS
0S 60 00T v 0ST vy %4 (LocT) 1T 1 aJenbg vT-TT-¥- SSS
00T 8'C ovT S'v 00¢ L [44 (,0ZT) 1T 17 aJenbg CC-TT-v- SSS
0ST [47 L9T 9 (0] 74 6'8 0¢ (,0ZT) TT 1% aJenbg 0¢-TT-¥- SSS
891 9 0€¢ 6’8 GTE L'TT 8T (,0ZT) 1T 14 aJenbg 8T-TT-¥- SSS
44 L6 S6C 4 86€ 99T ST (,0ZT’) 1T 14 aJenbg GT-TT-- SSS
0LE 8T 0LY 8'8T 019 v've 4! (,0ZT) TT 14 aJenbg CI-TT-- SSS
€LY S'LT S6S [44 S9/ €8¢ 0T (,0ZT) TT 14 aJenbg OT-TT-¥- SSS

JaquinN Med




Light Pole Spec Sheet
Square Straight Steel 5"
SSS-5

Pole Size (Inches)
5 Inch Square Steel

Pole Wall Thickness
11= 11 Gauge (.120" Thick)
7=7 Gauge (.188" Thick)

Pole Height (Feet)

25,30,35

Fixture Mounting

Fixture Locations

2= 2-3/8" OD slip fitter

3= 3" OD Slip Fitter

D=Drilled for 6" extended arm
pole mount. With pole cap

&

T’;;

Base Plate

Powdercoat Color: =
DB=Dark Bronze Al \>\
WH=White / a
BK=Black 1125 ,

‘\ // !

\< ,/

Hand Hole: S~ -7
3X5" reinforced

Bolt Circle: 10-12.5"

hand hole
Base Plate: 11.75"x 1"

Center of hole 18"
from base plate
3/8" Grounding Stud

Light Pole Systems, Inc.
LightPoleSystems.com (714)
786-8983

If Drilled for Arm Mount

(View from top)

Anchor Bolt:

(Blank) no anchor bolts
AB= Ship with pole +$79

Size: 1"-8 X 36"
Projection: 4-4.5"

POL!
SIZE

-

POLE
HEIGHT

Base Cover:
2 piece aluminum square cover.
Powder coated to match.

1057 E. Imperial Hwy #155
Placentia Ca. 92870
6/18/19 1.1


kurtismagargee
Oval

kurtismagargee
Line

kurtismagargee
Text Box
11.25"


0 0 00T €C 0ST S'g GE (,881°) £ S alenbs GE-/-S -SSS
00T 9'¢ L9T 9 L9T 66 0€ (,881°) L S aJenbg 0€-£-S -SSS
8€C 8'8 €€e €T €9Y T'LT Y4 (,881°) £ S aJenbg GT-£-S -SSS

0 0 0S 6T 0ST €y o€ (LoTT) 1T S aJenbs 0€-TT-S -SSS
0ST v'E LST 8'G ST 16 14 (,0ZT) TT S alenbs ST-TT-S -SSS

(*sql) (*sai)
(14 "OS) (14'DS)  wysdem  (14°09)
ysem
vda xen VdixeN  a4nxid  vdaxew  ySisH

(*sar)

TETETN asneo

24Nn1X14 Xe\l 24N31X14 XeAl ssauwydIYyL ?zs JaquinN Med

XeNl 9jod

auoz puim HdIN 00T auoz puim HdIN 06 auoz puim HdINI 08
saiydede) peoq xe\

lem

S9|0d G-]291S 1ysieJ1s asenbg
}Jey) peo 910d Y317 U] ‘swalsAs 9]0d 1y3i



	RSS-3 Pole Spec
	RSS-4 Pole Spec
	RSS-5 Pole Spec
	SSS-4 Pole Spec
	SSS-5 Pole Spec



